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401 Al HI L E0HHI 25,000 25,000 0
01 Al&H| 25,000 25,000 0
ZX =22 X AFY 25,000
HAANE AR DBt YA 596,262 471,747 124,515
= 183,541
= 412,721
MeasY WESLEHSE 101,808 93,408 8,400
= 46,704
= 55,104
101 2121 d| 90,808 80,908 9,900
= 41,204
= 49,604
04 JIZtHI2E2EXNSE 90,808 80,908 9,900
OJI2ZtMZ2=2XE B4 80,908
2 40,454
= 40,454
o403 2 ¢ S 8,400
(@aE==1:] 1,500
= 750
= 750
201 LBt Y| 11,000 12,500 A 1,500
= 5,500
& 5,500
01 At 22l ] 7,000 8,500 A 1,500
OXt& A Xt 7,000
= 3,500
= 3,500
02 =224 4| 4,000 4,000 0
OXNERIEI(SERE) 4,000
= 2,000
& 2,000
MEESd AMSIEES DLIEHZE L HOF 2edsHe 33,674 33,674 0
= 16,837
== 16,837
101 2121 4| 9,670 9,670 0
= 4,835
== 4,835
04 JIZtHI22XNSE S 9,670 9,670 0
OX A 2182 9,670
= 4,835
= 4,835
202 044l 4,000 4,000 0
= 2,000
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SN AEBSAATL
M NYBYLE
R AHAEAHAR DB A (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
[ 2,000
01 2L Y| 4,000 4,000 0
OXAF 4l 4,000
2 2,000
& 2,000
206 M H| 12,004 12,004 0
= 6,002
= 6,002
01 XHZ H| 12,004 12,004 0
ozel MM 2 12,004
= 6,002
= 6,002
405 XHAHFEIEHI 8,000 8,000 0
= 4,000
& 4,000
01 XA 2B F S| 8,000 8,000 0
o= MHAI 2 8,000
= 4,000
== 4,000
AtEIH S 6,285 6,285 0]
101 e1214| 6,285 6,285 0
04 J|12tHIZ22NEES 6,285 6,285 0
OXteldals 2H o2 6,285
AR 109,320 109,000 320
101 Q121 H| 22,320 22,000 320
04 JI2ZtHIZ22NEES 22,320 22,000 320
OANEAHR BEX 22,320
201 et 9| 55,000 55,000 0
01 AP 22| d| 50,000 50,000 0
OJlsd A2 8248 S 45,000
OelEx M= 5,000
02 Z2=2=2494| 5,000 5,000 0
OANEEBISX S 5,000
206 2 b 25,000 25,000 0
01 X2 4| 25,000 25,000 0
OFEARE 22 M2 S 25,000
207 30 | 7,000 7,000 0
03 A& 3| 7,000 7,000 0
Od3xME R = 7,000
U EHA RN L(RED 2 X) 140,000 60,000 80,000
2 70,000
= 70,000
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SH: MEBEARA
MY MUBADE
R AHAEAHAR DB A (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
101 2121 H] 20,000 6,000 14,000
= 10,000
& 10,000
04 JI2ZtHIZ22NEE S 20,000 6,000 14,000
OANEg BEZX 0124H| 20,000
= 10,000
= 10,000
201 et d9d| 30,000 12,000 18,000
= 15,000
o=} 15,000
01 AF 2t 2| H| 30,000 12,000 18,000
L PPN 20,000
= 10,000
& 10,000
OsEg g2t 10,000
= 5,000
& 5,000
202 o4l 4,000 4,000 0
= 2,000
= 2,000
01 2L Y| 4,000 4,000 0
OAEAHT Z AN HI 4,000
= 2,000
= 2,000
206 T 2 bl 36,000 8,000 28,000
= 18,000
= 18,000
01 X2 H| 36,000 8,000 28,000
OANFHE M8 2 26,000
= 13,000
= 13,000
OJ8 & e ¢ 10,000
= 5,000
& 5,000
405 XhAHE S| 50,000 30,000 20,000
= 25,000
= 25,000
01 XAt 2 ZF S| 50,000 30,000 20,000
OXFIE 22 212] 50,000
= 25,000
= 25,000
SHAES SA 64,640 58,680 5,960
101 Q121 H| 44 640 41,680 2,960
04 JI2tHIZ22NEE S 44 640 41,680 2,960
O MEZE =4 B2 08 44,640

_28_




SN AEBSAATL
M NYBYLE
el RIAIEOIR DB E Y CER-ED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
201 2er= 4l 8,000 5,000 3,000
01 AtR 2t 2l Hl 5,000 5,000 0
OEs&el g S 5,000

02 s3=9Hl 3,000 0 3,000
O &Ag 8 3,000

206 M =8l 12,000 12,000 0

01 M=z vl 12,000 12,000 0
OSWHEE T & |RIIEHE S 12,000

NM22 ZZ2M 22 & SAY He 12,143 12,086 57
101 1248l 7,143 7,086 57
04 J12ZRZ22 T S2=+ 7,143 7,086 57

OANEgREX 22 7,143
206 M =24l 5,000 5,000 0
01 M=l 5,000 5,000 0
OXZXzclE M7 S 5,000

NIE B8 § UES S4HAME 15,928 15,336 592
101 @124 8] 8,928 8,336 592
04 JIZtNZ22XNSE+ 8,928 8,336 592

O WE3iHg & 22 =R 8,928
206 M =8l 4,000 4,000 0
01 M= Hl 4,000 4,000 0
Outiss s 4,000
207 ARl 3,000 3,000 0
03 A8 & 22Hl 3,000 3,000 0
OANSEEZAN Tt S 3,000
=3z 100,000 50,000 50,000
= 50,000
< 50,000
101 @124 8] 15,000 1,000 14,000
2 7,500
= 7,500
04 DIt 22 XS+ 15,000 1,000 14,000
SZHA 2FY T A 2] 15,000
= 7,500
£ 7,500
201 2Bt | 52,600 32,800 19,800
= 26,300
= 26,300
01 At2 22l b 47,800 28,000 19,800
OXt& SRt 10,200
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SH: MEBEARA
MY MUBADE
S FHAEAT JIBEH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 5,100
< 5,100
OMNRES (22 8) 6,000
= 3,000
< 3,000
Ocl&d M&E s 27,100
= 13,550
< 13,550
ousgad g2 4,500
= 2,250
< 2,250
02 =24l 4,800 4,800 0
Ooxg 29Hl s 4,800
= 2,400
= 2,400
202 o4dl 5,000 ,000 0
= 2,500
< 2,500
01 = LH o4 1l 5,000 ,000 0
OUREIA2Y & WZ 5,000
= 2,500
< 2,500
206 M= Hl 27,400 ,200 16,200
= 13,700
< 13,700
01 =8l 27,400 ,200 16,200
OUREIA2E A2XM 11,200
= 5,600
< 5,600
OAE M 760
=2 380
< 380
O=3sta =8 2 XM= 15,440
= 7,720
< 7,720
SEA XA (MM I EXE) 5,000 ,000 0
201 LB-2E| 5,000 ,000 0
01 At 22l 5,000 ,000 0
OXN=<&s A E AMMHY HES 5,000
ELSR AE22 AE 7,464 ,868 596
101 @124 dl 4,464 ,168 296
0412t Z2XREES 4,464 ,168 296
OuEseA Bl ARY 4,464
206 = Hl 1,500 ,500 0
01 =8l 1,500 ,500 0
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SH: MEBEARA
MY MUBADE
el QUAIBOT JBEM (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OANELR IR 1,500
207 &I & d 1,500 1,200 300
03 A&l o 32| 1,500 1,200 300
OANE &M 7 1,500
sUALE 2 2,330,695 2,139,662 191,033
= 28,006
Xl 400,000
= 1,902,689
ANEZE 22 1,054,000 803,000 251,000
101 124 H| 6,000 6,000 0
04 JI2ZtHIZ22NEES 6,000 6,000 0
oz 24 dZ2012 6,000
201 LBt Y| 231,000 231,000 0
02 Z2=2=24%4| 231,000 231,000 0
OdzZdH L AIEEHI S XY 231,000
206 TH 2 HI 10,000 10,000 0
01 X2 4| 10,000 10,000 0
o2z H&E M7 < 10,000
401 AlEHIZL 2 0HY| 800,000 531,000 269,000
01 Al&Hl 796,220 528,120 268, 100
OEAAEYIAIAE HLALS 130,000
O23te|Ab SHIMH 70,000
OdZRA Al S SHI 2 WA 596,220
03 Al 20| 3,780 2,880 900
OdFRA Al ESHIZ WH 20 3,780
405 XH&HF S HI 7,000 25,000 A 18,000
01 XA 2 FF S| 7,000 25,000 A 18,000
OB OAIAE &Y 2 7,000
sSoe 22 AY 400,000 400,000 0
Xl 200,000
= 200,000
401 AlEHIZ £ 0HY| 400,000 400,000 0
Xl 200,000
= 200,000
01 Al&H| 392,000 392,000 0
OXNAS A2 B2AIS 392,000
N 196,000
o 196,000
03 A& E2HH] 8,000 8,000 0
OXHs e HAS 8,000
N 4,000




<

n0

Kio

Hl w

15,132

13,132
13,132

2,000
2,000

H3r
Wikd
RIS

400,000

400,000

392,000

8,000

141,358

37,868
37,868

40,590

27,420

13,170

3,800

3,800

45,000
45,000

9,600
9,600

4,500

4,500

Off &t 24

H

4,000
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200,000
200,000

400,000

Xl

W

200,000
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392,000

Xl

I

392,000

196,000
196,000

Xl

H

8,000
8,000
4,000
4,000
156,490

Xl

H

51,000
51,000
51,000

42,590

29,420

7,920
12,000

3,600
3,900
2,000
13,170

4,800
8,370

3,800

3,800
3,800

45,000

45,000
45,000

9,600
9,600
6,000

3,600

4,500
4,500

D
ol
iy

gl
Ot
ol

0
<

401 AIEHIZ 2 I
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03 A2 2 THHI
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ol
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SN AEBSAATL
M NYBYLE
celr BLALS B2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=x2d oz S 4,500
AHstsnsdy 67,012 94,850 A 27,838
= 28,006
= 39,006
101 @124l 56,012 83,850 A 27,838
= 28,006
< 28,006
04 D12t 22 HEE = 56,012 83,850 A 27,838
O=di &t 56,012
= 28,006
= 28,006
201 24l 8,000 8,000 0
01 At 2t 2l 6,000 6,000 0
OXdsls s ME 6,000
03 &AL Z I 2,000 2,000 0
ORI, =t WA S GtSWSHA 2,000
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
OXdats N8 M= 3,000
g2y 2d2el 88,500 87,014 1,486
101 1244 dl 9,000 22,514 N 13,514
04 D122 XREE S 9,000 22,514 AN 13,514
O=a KAzl 9,000
201 Let24d] 2,500 2,000 500
01 At 2teltl 2,500 2,000 500
Ozadss2el 2,500
206 M= Hl 12,000 12,000 0
01 =4l 12,000 12,000 0
OAHEZZxSE P2 8,000
O=azel M2 4,000
401 AIEHI L 20HEI 65,000 50,500 14,500
01 A& HI 64,500 50,000 14,500
Oogthes E= 64,500
03 A& =2 THHI 500 500 0
Ogtizd E= 500
s=20ts 22l 54,800 72,436 A 17,636
101 @124l 2,800 19,281 A 16,481
04 D12t Z22HEE = 2,800 19,281 216,481
Os=0te &K, 2¢el 2,800
201 ¢er24] 8,000 7,000 1,000
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SN AEBSAATL
MM MUEAEE
celr BLALS B2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 6,000 5,000 1,000
Os=sdg % Xzd s 6,000
02 =24l 2,000 2,000 0
Os=0ts |1 & =4 2,000
206 M= Hl 24,000 25,200 A1,200
01 =4l 24,000 25,200 A 1,200
OssAz+xd 24,000
401 AIEHI L 20 20,000 20,955 A 955
01 A& HI 20,000 20,955 A 955
O==20t2 AIE=2 FHl 20,000
MESLEZHEAL = 20,000 20,000 0
201 £B-2dH| 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
OHZE A ¥ SEI=H 20,000
dEErEat 22 41,893 82,004 A40,111
101 @124 dl 19,893 12,004 7,889
04 JIZHHZ2XEES 19,893 12,004 7,889
Outg et S22 M atel 19,893
201 Let2d] 22,000 20,000 2,000
01 At 22l 10,000 10,000 0
ougetsa MeggsX M 5,000
OUELUSE NRSE Y U ASY 5,000
02 2324l 12,000 10,000 2,000
O&AlE RAl &2l s 12,000
s=s01E 29 48,000 39,000 9,000
101 @124 4] 12,000 7,000 5,000
04 JIZHHMZ22XNSE+ 12,000 7,000 5,000
O2s0l& AEXE L 223 12,000
201 L4l 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
O8l29, oHiT & S 2,000
206 M= Hl 3,000 2,000 1,000
01 M2 4l 3,000 2,000 1,000
OS=s0ld A=%4E Y S 3,000
401 Al HI X 201 28,000 28,000 0
01 A& Hl 28,000 28,000 0
OS=0ld £l & FNE=3AM 28,000
405 RHoHE S HI 3,000 0 3,000
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SN AEBSAATL
M NYBYLE
el S2ALEE 2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et EFFHSHI 3,000 0 3,000
O2=01& NsSHAMSII 3,000
sy gz 2 2,947,099 2,466,866 480,233
= 1,183,563
Xl 198,547
= 1,564,989
AEYEE LH(S) 614,226 49,104 565,122
= 27,233
< 586,993
101 @124l 46,704 46,704 0
= 23,352
< 23,352
04 D12t 22 HEE =+ 46,704 46,704 0
Otz ol SUZ LM & 46,704
= 23,352
< 23,352
401 A& HIZ 201 I 565,322 2,400 562,922
2 2,781
< 562,541
01 A& HI 550,540 2,400 548,140
Otz Hall S M A 5,322
= 2,781
= 2,541
OAUSR HEESE HMAS 545,218
02 Zeltl 14,782 0 14,782
OAUSR HesE A 14,782
405 TtHabF S 2,200 0 2,200
2 1,100
< 1,100
01 et EFFHSHI 2,200 0 2,200
O=HANZHF I 2,200
= 1,100
< 1,100
= RIIAME(F) 723,766 848, 141 A 124,375
= 363,083
= 360,683
101 @124l 87,200 67,500 19,700
= 43,600
< 43,600
04 JIZHHZ2Z2XNESE S 87,200 67,500 19,700
O« U0l A =T S Q12| 87,200
= 43,600
< 43,600
301 et d = 2,400 2,160 240
= 2,400
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SA AYBAATL
Hu: MUBAPE

el BoY sy (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
09 &AL HI B2 &S 2,400 2,160 240
O&EHB0lQIA=EH DEHHI 2,400
= 2,400
401 AIEHI L 20 634,166 778,481 A 144,315
= 317,083
= 317,083
01 A& Bl 612,068 741,924 A 129,856
O= IR IIALY 612,068
= 306,034
< 306,034
02 2feldl 16,660 28,995 A 12,335
O=IHFIIAY 16,660
= 8,330
< 8,330
03 Al 2 THHI 5,438 7,562 A2,124
O=IHFIIAY 5,438
= 2,719
< 2,719
TEMHE(F) 445,941 460,063 AN 14,122
= 296,948
< 148,993
401 A& HIZ 201 Y] 445,941 460,063 AN 14,122
= 296,948
= 148,993
01 A& HI 430,193 444,843 A 14,650
OZXTE AL 90,941
= 49,108
< 41,833
OAHEEEAL (XSS AIY) 339,252
= 237,476
< 101,776
02 2feldl 11,248 10,635 613
OZXE AL 4,000
= 2,240
< 1,760
OAHEEEAL (KSESALY) 7,248
= 5,074
= 2,174
03 A& S THHI 4,500 4,585 A 85
OXE AL 1,000
= 600
< 400
OAUHEEEAG (KIS ESAIY) 3,500
= 2,450
< 1,050
AT AEANY(F) 283,638 512,921 £229,283
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SA AYBAATL
Hu: MUBAPE

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

Xl 198,547
85,091

H

101 14l 4,680 10,400 N5,720
Xl 3,276
1,404

H

04 DIt 22 XS+ 4,680 10,400 A5,720

OgEacd Al 4,680
Xl 3,276
1,404

in

401 AIEHIZ 2 I 278,958 502,521 N 223,563
Xl 195,271
83,687

H

270,218 488,213 A 217,995

261,218

Xl 182,853
78,365

9,000

Xl 6,300
2,700

02 & 5,940 9,375 13,435
Oz d M (RHAT) 5,940

X 4,158

= 1,782
= ol 2,800 4,933 ~2,133

OUE A& (HYY) 2,800

1,960
840

0o mx
=

©)

H
>
x
i
10
00
H

H

e
0o
n
i
1

H

o
=

=

A A (F) 581,000 243,001 337,999

406,700
174,300

oA

401 AIEHIZ 2 I 581,000 243,001 337,999

406,700
174,300

Mo

01 A& HI 563,066 235,955 327,111
O AR ALY 77,836

54,485
23,351

OdH o e T & 485,230
339,661
145,569
02 22/t 12,124 4,616 7,508
O&HXI Ab gt 2,354
1,648
706
9,770

6,839
2,931

M W

oW

O
!
Qe
s
:%
o

Mo
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SA AYBAATL
Hu: MUBAPE

el BoY sy (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 Al S THHI 5,810 2,430 3,380
OFSPAPNE- 810
= 567
< 243
Ooli et e 5,000
= 3,500
< 1,500
MNEESEAZ(E) 74,530 74,530 0
101 @144 dl 41,530 41,530 0
04 JIZHHZ2XREES 41,530 41,530 0
OouglEsae o2y 41,530
201 Let24d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
O=Y0F =2HAEX =& 3,000
202 O4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
Osgd&EX &= 6,000
206 M= Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
SE2oiE SMFE S 2,000
401 AIEHI L 2CHYI 20,000 20,000 0
01 A& tl 20,000 20,000 0
OF8IoisS MAHAY S 20,000
405 RHoHF S HI 2,000 2,000 0
01 AL ESFH S 2,000 2,000 0
OuxIl s 2,000
A2 YT AL (F) 223,998 279,106 A 55,108
= 89,599
< 134,399
101 @124 dl 155,958 150,663 5,295
= 62,383
< 93,575
4 JI2ZtHZ22HEE = 155,958 150,663 5,295
OM=HZ 0 & & stTH 155,958
= 62,383
= 93,575
201 Let249] 11,040 10,690 350
= 4,416
< 6,624
01 At 22l 7,600 7,250 350
OL=HI &2 2T S 4| 3,600
2 1,440

_38_




<

n0

Kio

Hl w
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SH: MEBEARA
Hu: MUBAPE
©? 28 Matzel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
|| Omnazag=s 53z 2 1,980
o=y 29 862,660 867,640 A 4,980
= 93,000
X 200,000
= 569,660
SUE BAANA(F) 400,000 400,000 0
X 200,000
< 200,000
401 AIEHI L 2] 400,000 400,000 0
Xl 200,000
< 200,000
01 A& HI 388,000 388,000 0
OXNgdF2E E2A 388,000
X 194,000
< 194,000
03 AlE 2 THHI 12,000 12,000 0
OXgsd S2A 12,000
Xl 6,000
< 6,000
Anosae 22 (5) 308,660 313,640 A 4,980
101 124 dl 141,660 116,640 25,020
4 D12t ZE2XREES 141,660 116,640 25,020
Osdgae o2 141,660
201 Let249] 152,000 142,000 10,000
01 At 22/l 92,000 92,000 0
OZMHOIX 22 S 528 2¢ 92,000
02 2324l 60,000 50,000 10,000
Os2ddg &2 60,000
206 = Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
s AeE2BE S 5,000
405 TtabH S| 10,000 50,000 A 40,000
01 et ESFH S 10,000 50,000 A 40,000
ozeldl & 10,000
MEMEIA STEAY(F) 154,000 154,000 0
= 93,000
< 61,000
101 @14 dl 154,000 154,000 0
= 93,000
< 61,000
4 D12t ZE2XREES 154,000 154,000 0
O=adl&t 56,000
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Jop roe rior
02 oY oY
0 L 18

=X (el:de)

ir
x

CHE - EI(SA) - NRAY - B S 0] &k o4
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i
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34,000
22,000
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405 XtAtE SHI 6,000 102,362 A 96,362

01 AL EFH S 6,000 102,362 A 96,362
OZANE HIAES S 6,000

33 e 54,000 50,000 4,000

206 M= Hl 54,000 50,000 4,000

01 M= 4l 54,000 50,000 4,000
ogXi2elg Mg 7 24,000
OHXl AE 2 s ME+¢ 20,000
OHX HM&eE g3t2s S MEg3 ¢ 10,000

26 2 HE Z208 22 330,000 330,000 0

201 Ler24E] 330,000 330,000 0

01 At 22l 300,000 300,000 0
Oa4d & SE2Zd T2y 2F 89| 300,000

03 &AL Z I 30,000 30,000 0
Ottt J1& g & K& 30,000

BHEZSEX =228 195,000 156,000 39,000

201 £B-2dH| 195,000 156,000 39,000

01 At 22/l 195,000 156,000 39,000
OHMEaEX AUHEES MEH 50,000
OHNEZsX EL0HE S 125,000
OHHEsHI HS2AE Wil 20,000

HHAAES 2 2 545,520 416,020 129,500

2ot AIEES RA2c 455,520 326,020 129,500

201 €24l 343,520 314,020 29,500

01 At 22l 115,520 126,020 A 10,500
Oger==EH| 83,520
Oogxz 11,000
OEZMHUHE === 21,000

02 2324l 228,000 188,000 40,000
OAN&EH ®XH S 128,000
ONETANANE SANE > 100,000

206 M= Hl 12,000 12,000 0

01 =4l 12,000 12,000 0
O=23t& =Z&e S 12,000

405 TtabF S| 100,000 0 100,000

01 AL EFH S 100,000 0 100,000
O2stat #HH2de R==8 M 100,000
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Bl = 3R R 22l Ab A

I B AAHOIIIE =24
el MR AAIES T 2o (B9 ®R)
(o
SN ZH-SR(SN) - HRAY - B Ol &k o8 il HlnE2

Egll8ld ¥ FolusZZNd 24 90,000 90,000 0

201 LBH2d| 40,000 40,000 0

03 A2 Z Hl 40,000 40,000 0
Osglled 29 40,000

401 Al BIZ 201 8] 50,000 50,000 0

04 S At2tE Al & HI 50,000 50,000 0
OFAISAF & HAIEZ2 HME &X 50,000

MNEES(HMSS X 22l A 2) 6,436,500 6,545,900 A 109,400

HEHHK = 6,436,500 5,780,000 656,500

HEHH X = 6,436,500 5,780,000 656,500

705 =32 cl 34 6,436,500 5,780,000 656,500

03 Al - SXYHLI S-S 4E 4,900,000 4,100,000 800,000
O'07E )M AA S SR =LA 1,000,000
O'08E )M A S X =& ZA 2,500,000
O'ogH)ol=CH= =& 600,000
O'08E )M A A S SR o3 A 800,000

04 Al - SN SINLI S0 =30 A&kt 1,536,500 1,680,000 A 143,500
O'07E )P AMMSE SR =HAS 280,000
O'08E )M A A SR 43 A 787,500
O'ogd)ol=th® F&A 189,000
O'09E )M A A S SR =3 A 280,000

HY2FZH (UM SRl AEL) 1,647,721 1,739,671 A 91,950

el 2d | 1,518,306 1,609,766 A 91,460

ol 2AY| 1,518,306 1,609,766 291,460

101 1A bl 1,466,586 1,555,106 A 88,520

01 2= 1,353,181 1,446,315 A 93,134
OJlg=s 945,980
-¢HEH(12) 79,641
-2 BHE (22Y) 689,950
- PR (4Y) 109,746
-22sg 66,643
O3 8,763
OFSF=tt= Pl Faa=: 23,280
OFZFootatza 1,680
Ons=¢ 20,880
OstHIEx Y 17,813
OofIgZ22+¢ 1,920
OS=g=200Is3d8) 4,200
OS82 2Hera) 4,680
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